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QUESTION 1

The maintenance technician wants to document the finished work steps for a technical object in a notification. Which
catalog-based option in the notification can be used?

A. An activity in the notification header
B. A text in thesubject long text screen
C. Atask in the notification item

D. An entry in the object list

Correct Answer: A

QUESTION 2

Which of the following statements about orders with operation account assignment (OAA) are correct? Note: There are
3 correct answers to this question.

A. The settlement rule is maintained onheader level.

B. Purchase requisitions have the operation as account assignment.
C. A technical object must be assigned to an order operation.

D. Costs are only stored for the operation object.

E. Overall costs are dynamically summed up on header level.

Correct Answer: CDE

QUESTION 3

How do you map a counter replacement in SAP S/4HANA Asset Management?

A. Replace thedefective piece of equipment to which a counter is assigned.

B. Create a new measurement document marked as a counter replacement.

C. Create a new measurement document and assign a valuationcode for counter replacement.
D. Deactivate the current counter and create a new counter.

Correct Answer: B

QUESTION 4

You create a revision for a maintenance event builder (MEB) scenario. Which of the following statements are correct?
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Note: Thereare 2 correct answers to this question.

A. You can assign a network to a revision.

B. You must assign maintenance notifications to the revision.
C. You must use hierarchical task lists for the MEB scenario.
D. You can assign a hierarchical task list to the revision.

Correct Answer: BD

QUESTION 5

What can be determined using the offset within a maintenancestrategy?
A. The cycle duration

B. The first due date of a maintenance package

C. The start date of the maintenance order

D. The call date for the maintenance order

Correct Answer: B
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